
















A "bend" in the qq-plot can be interpreted as 
1) two normals with the different mu's, and the same sigma (if the tail ends of qqplot are parallel)
2) two normals with the same mu, and different sigma's.



hw-lect9-2
For the exponential distribution with parameter lambda, find the variance.Hint: You may use this integral:

hw_lect9-1
a) Consider the binomial dist. with params n,pi. Draw four figures that show qualitatively how its mean 
(mu_x) and variance (sigma_x^2) vary with n and pi.

Suppose we toss n=l00 unfair coins, with an unknown pi.
b) What is the expected number of heads out of n? (The answer depends on pi),
c) What is the typical deviation in the number of heads out of n? (The answer depends on pi).
d) what is the largest typical deviation of the number of heads out of n? (The answer is a number!)
Hint: Consult your graph of variance vs. pi, in part a).

hw_lect9_3: Find the prob that x is within 1 standard deviation of the mean, for

hw-lect9_5
Do a qq-plot of each of the 2 cont. vars. in the data you collected. By R. Describe/Interpret the result.
Note: If you find out that there is not much you can say about the qq-plot, it may be that your data is 
not appropriate. This is another chance to correct the error, because later you will be doing more hw 
problems using your data. So, see me, if you are not sure.


